Please solve problems as simply as possible with step by step solution without skipping steps and give answer.  Note, some answers are given to confirm.  Explain answers.  
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A 14.5 kg monkev starts to climb a long rope to reach a
banana located at a height of 6.60 m. The rope will snap
if the tension exceeds 159.5 N. Calculate the least amount
of time the monkey could take to reach the banana without
breaking the rope.
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Tries 0/99

Answer for Part: 0

3.331 [3.23061510390511,3.43044696600233] Sig 3 - 5

Unit: s
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(c5p70) Five forces pull on the 5.0 kg box in the figure with
F1 =29 N,F2=15.0 N at an angle of 30°, F3 =4.6 N, F4
=-13.0 N and F5 =-19.0 N. Find the box’s acceleration in
unit-vector notation. i-component of the acceleration?

Tries 0/99

j-component of the acceleration?

I |

Tries 0/99

What is the magnitude of the acceleration?

| ]

Tries 0/99

Answer for Part: 11
5.78E-01 [0.560559393697464,0.595594355803556]
Unit: m/s"2
Answer for Part: 13
-1.38 [-1.33818293240071,-1.42181936567575]
Unit: m/s"2
Answer for Part: 15
1.50 [1.45084816381007,1.54152617404819]
Unit: m/s"2

{c5p7) While two forces act on it. a particle is to move con-
tinuously with v =3i-4j,in m/s F; = (4.4 N)i + (-1.1 N)j.
What is the other force? i-component of the other force?

Tries 0/99

j-component of the other force?

Tries 0/99

Answer for Part: 11
-4.40 [-4.26666666666667,-4.53333333333333]
Unit: N
Answer for Part: 13
1.10 [1.06666666666667,1.13333333333333])
Unit: N

SRR

(hrwe5p39) A chain consisting of five links, each of mass 0.170
kg, is lifted vertically with a constant acceleration of a = 1.8
m/s?. Find the magnitude of the force that link 3 exerts on
link 2.

Tries 0/99
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What is the magnitude of the force F that must be exerted
on the top link to achieve this acceleration?

[ | ]

Tries 0/99

Answer for Part: 11
3.94 [3.7468,4.1412]
Unit: N
Answer for Part: 13
9.86 [9.367,10.353]
Unit: N

(hrwc5p36_6e) Three blocks are located on a horizontal fric-
tionless table. They are connected by a massless cord, as
shown in the figure, and pulled to the right. The masses of
the three blocks are m; = 36 kg, mo = 18 kg, and m3 =
23 kg. The pulling force is equal to T3 = 81 N. What is the
acceleration of the system?

[ |

Tries 0/99
What is the tension 777

L |

Tries 0/99

What is the tension 737

Tries 0/99

Answer for Part: 11
1.05 [0.999350649350647,1.10454545454545]
Unit: m/s"2
Answer for Part: 13
3.79E+01 [35.9766233766234,39.7636363636364]
Unit: N
Answer for Part: 15
5.68E+01 [53.9649350649351,59.6454545454545]
Unit: N

A frictionless pulley with zero mass is attached
to the ceiling, in a gravity field of 9.81 m/s?.
Mass My = 0.15 kg is being accelerated down-
ward at 1.3 m/s?. Calculate the mass M;.

L ]

Tries 0/99

Answer for Part: 0

1.149E-01 [0.109151665166517,0.120641314131413] Sig 3 -

Unit: kg

Two blocks are arranged as shown.
The pulley can be considered to
be massless, and friction is negli-
gible. M; is three times more mas-
sive than Ms.

If the system is released from rest, how far will M; travel in
0.611 s?

| |

Tries 0/99

Answer for Part: 0
4 .57E-01 [0.4481718605,0.4664645895] Sig 3 - 5
Unit: m





